ASSEMBLY INSTRUCTIONS

NOTE: 50% TIGHTEN BEFORE FIXING ALL BOLTS
WF323361AAD




(H)——>

Notice: >

1. 50% Tighten before fixing all screws, Allen wrench is recommended instead
of an electric drill.

2. Placetheitem on aflat ground to adjust and make sure it remains stable.

3. Tighten up al screws with tools gradually.

4. If the screws are not aligned with holes during assembly, please loosen al the
other screws to 50% and continue the assembly process.

5. If theitemisnot stable, please loosen all the screws, adjust it on aflat ground
and tighten up all screws again.

6. Note: If one or some screws are fully tightened during assembly, chances are

the others will not be aligned with holes. In addition, al the holes are

designed to berelatively larger to provide more space for the adjustment of
the screws.




PART LIST

B
Top Shelf Panel (1PC) Right Panel (1PC) Left Panel (1PC)
/ N~ T
Back Panel (1PC) Center Panel (1PC) Top Panel (1PC)
N H I

L eft Frame (1PC)

Back Frame (1PC)

L
Front Rail (1PC) Front upper stretcher (1PC) Front Right Frame (1PC)
@ N
Door Frame (1PC) Bottom Panel (1PC)




HARDWARE LIST

2

NI
Big Cam Lock (31PCYS) Cam Bolt (29PCS)
Extra 2pcs Cam Bolt (2PCS) Extra (2pcs)
4 5 6
@E ((((((((((((((ﬁ(@

?8x30mm Wood Dowel (21PCS)
Extra (2pcs)

@1/4*45mm Bolt Screw (2PCS)

Bolt /4" x 25mm (28PCYS)

8

9

RS

Bolt 1/4" x 38mm (6PCS) Lock The Door (IPC) | M3*12mm Flat Head Screw (3PCS)
10 11 12
(> (v D
M4*15mmWood Screw (20PCS)
M3.5*12mmWood Screw (4PCS) Extra (2pcs) Méx15mm Bolt with Screw Head (2PCS)
13 14 15

—

Allen Key 4mm (1PC)

o

Bamn door roller (2PCS)

Locking Caster (2PCYS)




HARDWARE LIST

16

Swivel Caster (3PCS)




CARTON CONTENT:

B |Right Panel (1PC) C | Left Panel (1PC)

<~

F | Top Panel (1PC)

WF323361AAD:

H | Left Frame (1PC) | |Back Frame (1PC)
/
/ =
//
7
J |Front Rail (1PC) K | Front upper stretcher (1PC) L |Front Right Frame (1PC)




WF323361AAD:

CARTON CONTENT:

M | Door Frame (1PC)

N | Bottom Panel (1PC)




o-mmg» | Cam Bolt 15 pcs

o gy | Cam Bolt




STEP3

(2)

2 pcs

2| @3 | Cam Bolt

STEP4

4 | = | ©8x30mm Wood Dowel |2 pcs

2 pcs

Cam Lock




P
o

-

(D)

-

STEPS5

-
4 | & |08x30mm Wood Dowel | 3 pcs
<« B

N
STEP6

7 V-

\
T e = = =GP === =

.o .

~

5 pcs

) s
R
N

Cam Lock

2,

4 | = | ©¥8x30mm Wood Dowel |6 pcs

10

8 pcs

Cam Lock




STEP7

..

/
]
[
1
1
\
\

-

10pcs| | 4 | & | ©8x30mm Wood Dowel | 8 pcs

Cam Lock

2,

'~

1

STEP 8

1pc

13| [~ | AllenKey 4mm

3 pcs

Bolt /4" x 25mm

e

6

11




STEP9

4 | = |08x30mm Wood Dowel | 2 pcs

4 pcs

Cam Lock

2

1

STEP 10

1pc

4pcs| (13| [~ | AllenKey 4mm

mne® | Bolt 1/4" X 25mm

6

12




3 pcs

1pC

7 O

13| Allen Key 4mm

5|2
— | ™
Z
S| E
4
2N
X
Elx
L=
| =
=|0o
SEE
Tle

/ \Y/
1
&

1 A—7/—

i

\\\\\\

\
\,
\
\
\
\
\,
AN
=Y

8

1pC

2188
alo ™
2

%brv.mm
S| 90| R
523
X [ X
2|
F(a|4
S|oB|o
=|o|m
.v‘, @
owlol|~

13




STEP 13

\

v
\ :/\
AN [A

IIIII

\
(I

o
!
._

BN
N

1pc

1pc

&

2 pcs

3pcs| (13| [~ | AllenKey 4mm

STEP 14

12pcs| 13| [~ | Allen Key 4mm

0

/

Cam Lock

Bolt /4" x 25mm

(«uu;(«««(@ Bolt 1/4" x 25mm

o )

6

6

14




STEP 15

>N,

\
\
\
\\
\\\\\ /
7N
{ \
\ |
N\ Ve
N.N\ \ \\p \\\o\\
’ \\ \\ / \ \\\\ \
¢

STEP 16

20 pcs

/) @N 4

11 @m M4*15mmWood Screw

15

4 pcs

10| @om> | M3.5*12mmWood Screw




STEP 17

12 Méx15mm Bolt with Screw Head 2 pcs
STEP 18
9 M3*12mm Flat Head Screw | 3 pPCS

16




COMPLETE

17




	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)
	WF323360AAE,WF323361AAD (AI-说明书） Model (1)

